CRICOS INTERNATIONAL STUDENTS' FEES OFFSHORE 2023

National Course Code	Course Name	Estimated Duration	Work Placement Hours	CRICOS Campus Location	Tuition Fee	Resources	Total Cost to Student
CHC30121	Certificate III in Early Childhood Education and Care	50 Weeks	160 hours	VIC	\$12,000.00	\$300.00	\$12 500.00
CHC50121	Diploma of Early Childhood Education and Care	50 weeks	280 hours	VIC	\$17,400.00	\$300.00	\$17900.00
CHC33015	Certificate III in Individual Support	50 weeks	120 hours	VIC	\$7500.00	\$300.00	\$8000.00
CHC43415	Certificate IV in Leisure & Health	32 weeks	120 hours	NSW, VIC, SA	\$10,100.00	\$300.00	\$10600.00
CHC43015	Certificate IV in Ageing Support	32 weeks	120 hours	NSW, VIC, SA	\$10,100.00	\$300.00	\$10600.00
CHC43315	Certificate IV in Mental Health	32 weeks	80 hours	NSW; VIC	\$12,800.00	\$300.00	\$13300.00
CHC43115	Certificate IV in Disability	32 weeks	120 hours	NSW; VIC	\$10,600.00	\$300.00	\$11,100.00
CHC53415	Diploma of Leisure & Health	52 weeks	240 hours	NSW; VIC	\$17,400.00	\$300.00	\$17900.00
CHC52015	Diploma of Community Services	60 weeks	100 hours	NSW, VIC, SA	\$15,500.00	\$300.00	\$16000.00
HLT55118	Diploma of Dental Technology	92 weeks		* VIC	\$32,000.00	\$3,000.00	\$35,200.00

CRICOS INTERNATIONAL STUDENTS' FEES ONSHORE AND FEE FOR SERVICE 2023

National Course Code	Course Name	Estimated Duration	Work Placement Hours	CRICOS Campus Location	Tuition Fee	Resources	Total Cost to Student
CHC30121	Certificate III in Early Childhood Education and Care	50 Weeks	160 hours	VIC	\$9,300.00	\$300.00	\$9,800.00
CHC50121	Diploma of Early Childhood Education and Care	50 weeks	280 hours	VIC	\$13,000.00	\$300.00	\$13,500.00
CHC33015	Certificate III in Individual Support	50 weeks	120 hours	VIC	\$4500.00	\$300.00	\$5000.00
CHC43015	Certificate IV in Ageing Support	32 weeks	120 hours	NSW, VIC, SA	\$7000.00	\$300.00	\$7500.00
CHC43415	Certificate IV in Leisure & Health	32 weeks	120 hours	NSW, VIC, SA	\$7000.00	\$300.00	\$7500.00
CHC43315	Certificate IV in Mental Health	32 weeks	80 hours	NSW; VIC	\$7000.00	\$300.00	\$10,100.00
CHC43115	Certificate IV in Disability	32 weeks	120 hours	NSW; VIC	\$7000.00	\$300.00	\$7500.00
CHC53415	Diploma of Leisure & Health	52 weeks	240 hours	NSW; VIC	\$17400.00	\$300.00	\$17900.00
CHC52015	Diploma of Community Services	60 weeks	100 hours	NSW, VIC, SA	\$11,630.00	\$300.00	\$12,130.00
HLT55118	Diploma of Dental Technology	92 weeks		* VIC	\$28,000.00	\$3,000.00	\$31,200

CRICOS Campus Location

New South Wales- 70-72 Bathurst Street, Sydney (NSW)

Victoria - 124 Princes Hwy, Dandenong(VIC)

*Victoria - 205 Moreland Rd, Coburg, Victoria 3058

South Australia (SA) - 223-241 Angas St, Adelaide (SA)

Application A non-refundable fee of \$ 200 per application will be charged. If dual application, the second application fee will be waived. Prices and Timetables are subject to changes.

*Contact our staff for Monthly Promotions

DOMESTIC STUDENTS' FUNDED FEES 2022

Statement of Fees 2022

Yorke Institute (TOID 22040)

As per the Skills First Program, an eligible individual can undertake a maximum of two Government subsidised (funded) courses at any given time in a calendar year. Additional eligibility criteria must be met to access the funding. To check on eligibility, contact Yorke Institute on 03-9042 0231 or by emailing to enquiries@yorkeinstitute.edu.au.

Indicative Fees and Charges for 2022 :

- Yorke Institute's price list is valid until 31/12/2022.
- Student tuition fees as published are subject to change given individual circumstances at enrolment.
- Administration and material fees are none refundable and must be paid in advance
- A pre-training review is conducted for every learner upon enrolment, where they will be required to undergo a Language, Literacy and Numeracy (LL&N) test, to help determine the appropriate level of entry to their chosen program. Learners may be recommended to enrol in an entry level foundation course to help prepare and progress through the higher level of study.
- Contact 03-9042 0231 to enquire about payment terms, eligibility to access Government funding and other available options.

Should a refund be required, further details on our refunds policy can be obtained by contacting Yorke Institute on 03-9042 0231 or by emailing to enquiries@yorkeinstitute.edu.au.

Additional Fees or Charges :

\$0.00
\$0.00
\$50.00
\$50.00 - \$100.00 depending on unit of competency
\$100.00 per unit

	Indica	tive Fee	s and Charg	Eligible Government Subsidised Rates							
Nationa l Course Code	Course Name	Estimat ed Duratio n	Mode of Delivery	Work Placement requrieme nts	Location for Practical Tasks	Location for Practical Tasks for Traineesh ip	Indicati ve Tuition Fee per Nominal Hour	Indicati ve Maximu m Course Tuition Fee	Concession al Indicative Tuition Fee per Nominal Hour	Concession al Indicative Maximum Course Tuition Fee payable	Governme nt contributi on
CHC301 13	Certificate III in Early Childhood Education and Care	50 Weeks	Blended Delivery	120 hours	City Campus	Work Site	\$0.00	\$0.00	\$0.00	\$0.00	\$6,438.00 (888 Hours x \$7.25)
CHC501 13	Diploma of Early Childhood Education and Care	50 Weeks	Blended Delivery	240 Hours	City Campus	Work Site	\$0.00	\$0.00	\$0.00	\$0.00	\$12,487.50 (1,998 Hours x \$6.25)
CHC430 15	Certificate IV in Ageing Support	32 Weeks	Blended Delivery	120 hours	City Campus	Work Site	\$0.00	\$0.00	\$0.00	\$0.00	\$10,937.50 (1,250 Hours x \$8.75)
CHC534 15	Diploma of Leisure and Health	50 Weeks	Blended Delivery	240 Hours	City Campus	Work Site	\$0.00	\$0.00	\$0.00	\$0.00	\$9,812.50 (1,570 Hours x \$6.25)
CHC431 15	Certificate IV in Disability	32 Weeks	Blended Delivery	120 hours	City Campus	Work Site	\$0.00	\$0.00	\$0.00	\$0.00	\$6,742.50 (930 Hours x \$7.25)

CHC434 15	Certificate IV in Leisure and Health	32 Weeks	Blended Delivery	120 hours	City Campus	Work Site	\$0.00	\$0.00	\$0.00	\$0.00	\$7,648.75 (1,055 Hours x \$7.25)
CHC520 15	Diploma of Communit y Services	54 Weeks	Blended Delivery	100 Hours	City Campus	Work Site	\$0.00	\$0.00	\$0.00	\$0.00	\$8,750.00 (1,400 Hours x \$6.25)
HLT4301 5	Certificate IV in Allied Health Assistance	32 Weeks	Blended Delivery	120 Hours	City Campus	Work Site	\$0.00	\$0.00	\$0.00	\$0.00	\$12,862.50 (1,050 Hours x \$12.25)
CHC433 15	Certificate IV in Mental Health	50 Weeks	Blended Delivery	80 Hours	City Campus	Work Site	\$0.00	\$0.00	\$0.00	\$0.00	\$7,918.75 (905 Hours x \$8.75)
BSB5012 0	Diploma of Business	50 Weeks	Traineeship	0 Hours	Work Place	Work Site	\$0.00	\$0.00	\$0.00	\$0.00	\$3,230.00 (760 Hours x \$4.25)
BSB4052 0	Certificate IV In Leadership And Manageme nt	32 Weeks	Traineeship	0 Hours	Work Place	Work Site	\$0.00	\$0.00	\$0.00	\$0.00	\$3,230.00 (760 Hours x \$4.25)
BSB6042 0	Advanced Diploma of Leadership and Manageme nt	33 Weeks	Traineeship	0 Hours	Work Place	Work Site	\$0.00	\$0.00	\$0.00	\$0.00	\$2,592.50 (610 Hours x \$4.25)

Note: The student tuition fees as published are subject to change given individual circumstances at enrolment.



DOMESTIC STUDENTS' FUNDED FEES 2021 (SUPERSEDED)

Statement of Fees 2021 (Superseded)

Yorke Institute (TOID 22040)

As per the Skills First Program, an eligible individual can undertake a maximum of two Government subsidised (funded) courses at any given time in a calendar year. Additional eligibility criteria must be met to access the funding. To check on eligibility, contact Yorke Institute on 03-9042 0231 or by emailing to enquiries@yorkeinstitute.edu.au.

Indicative Fees and Charges for 2021:

- Yorke Institute's price list is valid until 31/12/2021.
- Student tuition fees as published are subject to change given individual circumstances at enrolment.
- Administration and material fees are none refundable and must be paid in advance
- A pre-training review is conducted for every learner upon enrolment, where they will be required to undergo a Language, Literacy and Numeracy (LL&N) test, to help determine the appropriate level of entry to their chosen program. Learners may be recommended to enrol in an entry level foundation course to help prepare and progress through the higher level of study.
- Contact 03-9042 0231 to enquire about payment terms, eligibility to access Government funding and other available options.

Should a refund be required, further details on our refunds policy can be obtained by contacting Yorke Institute on 03-9042 0231 or by emailing to enquiries@yorkeinstitute.edu.au.

Additional Fees or Charges :

<u>Item Fees / Charges</u>	
Tuition Contribution	\$0.00
Administration Fee	\$0.00
Re-issue Qualification Certificate / Copy	\$50.00
Learning Material Replacement	\$50.00 - \$100.00 depending on unit of competency
RPL Fees	\$100.00 per unit



Ind	icative Fe	es and C	Charges 20	Eligible Government Subsidised Rates							
Nationa l Course Code	Course Name	Estimat ed Duratio n	Mode of Delivery	Work Placement requrieme nts	Location for Practical Tasks	Location for Practical Tasks for Traineesh ip	Indicati ve Tuition Fee per Nomina l Hour	Indicati ve Maximu m Course Tuition Fee	Concessio nal Indicative Tuition Fee per Nominal Hour	Concessio nal Indicative Maximum Course Tuition Fee payable	Governme nt contributi on
CHC301 13	Certificate III in Early Childhood Education and Care	50 Weeks	Blended Delivery	120 hours	City Campus	Work Site	\$0.00	\$0.00	\$0.00	\$0.00	\$6,438.00 (888 Hours x \$7.25)
CHC501 13	Diploma of Early Childhood Education and Care	50 Weeks	Blended Delivery	240 Hours	City Campus	Work Site	\$0.00	\$0.00	\$0.00	\$0.00	\$12,487.50 (1,998 Hours x \$6.25)
CHC430 15	Certificate IV in Ageing Support	32 Weeks	Blended Delivery	120 hours	City Campus	Work Site	\$0.00	\$0.00	\$0.00	\$0.00	\$10,937.50 (1,250 Hours x \$8.75)
CHC534 15	Diploma of Leisure and Health	50 Weeks	Blended Delivery	240 Hours	City Campus	Work Site	\$0.00	\$0.00	\$0.00	\$0.00	\$9,812.50 (1,570 Hours x \$6.25)

CHC431 15	Certificate IV in Disability	32 Weeks	Blended Delivery	120 hours	City Campus	Work Site	\$0.00	\$0.00	\$0.00	\$0.00	\$6,742.50 (930 Hours x \$7.25)
CHC434 15	Certificate IV in Leisure and Health	32 Weeks	Blended Delivery	120 hours	City Campus	Work Site	\$0.00	\$0.00	\$0.00	\$0.00	\$7,648.75 (1,055 Hours x \$7.25)
CHC520 15	Diploma of Communit y Services	54 Weeks	Blended Delivery	100 Hours	City Campus	Work Site	\$0.00	\$0.00	\$0.00	\$0.00	\$8,750.00 (1,400 Hours x \$6.25)
BSB5012 0	Diploma of Business	50 Weeks	Traineeship	0 Hours	Work Place	Work Site	\$0.00	\$0.00	\$0.00	\$0.00	\$3,230.00 (760 Hours x \$4.25)
BSB4052 0	Certificate IV In Leadershi p And Manageme nt	32 Weeks	Traineeship	0 Hours	Work Place	Work Site	\$0.00	\$0.00	\$0.00	\$0.00	\$3,230.00 (760 Hours x \$4.25)
BSB6042 0	Advanced Diploma of Leadershi p and Manageme nt	33 Weeks	Traineeship	0 Hours	Work Place	Work Site	\$0.00	\$0.00	\$0.00	\$0.00	\$2,592.50 (610 Hours x \$4.25)

Note: The student tuition fees as published are subject to change given individual circumstances at enrolment.